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Do Now: 
 
Solve the following inequalities and place solutions in notation indicated. 
 
 
 

1.  
  
x2 + x − 2
x2 − 4x + 3

≤ 0            (set builder) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2.  
  
x + 3
x +1

≥ x − 2
x − 3

  (interval) 
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14.  26 11 10x x   
 
15.  8 8a b  
 
16.  2 8 4x x   
 
17.  4 2 12x x   
 
18.  16x2 y2  25 
 
19.  1x y xy    
 
20.  x5  27x2  
 
21.  3 38 125x y  
 
22.  2 2 2( 3 ) 38( 3 ) 80x x x x     
 
23.  6 8x   
 
24.  2 2 2( 1) 9( 1)x x x    
 
25.  2 2 24( 1) 13( 1) 12x x     
 
26.  6 7t 2  t 4  
 
27.  7x2 10xy  3y2 
 
28.  x9  x6  x3 1 
 
29.  8a2  33ab 4b2  
 

a b a b
a'tb a2b

a tb b abatb

x x I IR l
x I x 1

XI xXIIX I113 1



My 1 1

442 134 12

44216939 12

signals 14994 71
O

44344

414 31444 Pty so

424 3 425

4411251 444,5 0
2 1 2 11425

til to
2739 216037
2713 ads 3xy 6011919 t 181yd

3614
a I É yes

27xy2dx'y'tsay4344
2d9x'y't2xydt4d y y
27Xy20114229403 b4 21 2 1 or Oxen

C C2 1 or10,1


